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Toto has hair if the animal has hair,
Toto eats meat then the animal is a mammal.
Toto has a tanny color if the animal is a mammal,
Toto has dark spots and the animal eats meat,

then the animal is a carnivore.

if the animal is a mammal,
and the animal is a carnivore,
and the animal has a tanny color,
and the animal has dark spots,

then the animal is a cheetah.
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b) asadinaNTBUNIULLLTBUNGY IHaasaNNATIUI Toto 1TwFouda (cheetah)
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Part B: Neural Networks

Answer the following questions in the answer-book

Question 1 { 3 marks)

What are the differences between neural network approach and the
symbolic AI? How it affects the future of intelligent systems?

Question 2 ( 4 marks)
Explain the basic concept of Neural Networks and their appropriate
applications.

Question 3 ( 3 marks)

Draw the Perceptron Neural Network Model for one neuron with two
inputs. Show all its elements (including its output equation)

Asst. Prof. Somchai Chuchom



